

Differentiate each.

1. $x^3 + y^3 = 6xy$ **Product**

$$\frac{d}{dx}[x^3] + \frac{d}{dx}[y^3] = \frac{d}{dx}[6xy]$$

$$3x^2 + 3y^2 \frac{dy}{dx} = 6x \cdot \frac{d}{dx}[y] + y \cdot \frac{d}{dx}[6x]$$

$$3x^2 + 3y^2 \frac{dy}{dx} = 6x \frac{dy}{dx} + y(6)$$

$$3y^2 \frac{dy}{dx} - 6x \frac{dy}{dx} = 6y - 3x^2$$

$$\frac{dy}{dx} = (3y^2 - 6x) = 6y - 3x^2$$

$$\frac{dy}{dx} = \frac{6y - 3x^2}{3y^2 - 6x} = \frac{3(2y - x^2)}{3(y^2 - 2x)} = \frac{2y - x^2}{y^2 - 2x}$$

3. $x^2y + xy^2 = 3x$

2. $x^3 + x^2y + 4y^2 = 6$

4. $4 \cos x \sin y = 1$ **Product**

$$\cos x \cdot \sin y = \frac{1}{4}$$

$$\cos x \cdot \frac{d}{dx}[\sin y] + \sin y \cdot \frac{d}{dx}[\cos x] = \frac{d}{dx}\left[\frac{1}{4}\right]$$

$$\cos x \cdot \cos y \cdot \frac{dy}{dx} + \sin y(-\sin x) = 0$$

$$\cos x \cos y \frac{dy}{dx} - \sin x \sin y = 0$$

$$\cos x \cos y \frac{dy}{dx} = \sin x \sin y$$

$$\frac{dy}{dx} = \frac{\sin x \sin y}{\cos x \cos y} = \tan x \tan y$$

5. $x \cos y + y \cos x = 1$

6. $y = \cos(xy)$ **Chain & Product**

$$\frac{d}{dx}[y] = \frac{d}{dx}[\cos(xy)]$$

$$\frac{dy}{dx} = -\sin(xy) \cdot \frac{d}{dx}[xy]$$

$$\frac{dy}{dx} = -\sin(xy) \cdot \left[x \frac{d}{dx}[y] + y \frac{d}{dx}[x] \right]$$

$$\frac{dy}{dx} = -\sin(xy) \cdot \left[x \frac{dy}{dx} + y(1) \right]$$

$$\frac{dy}{dx} = -x \sin(xy) \frac{dy}{dx} - y \sin(xy)$$

$$\frac{dy}{dx} + x \sin(xy) \frac{dy}{dx} = -y \sin(xy)$$

$$\frac{dy}{dx} [1 + x \sin(xy)] = -y \sin(xy)$$

$$\frac{dy}{dx} = \frac{-y \sin(xy)}{1 + x \sin(xy)}$$

Review

11. $\lim_{x \rightarrow 2} \frac{2x^2 - 3x - 2}{x^2 + 3x - 10} = 0 \because$
 $\frac{4 + 6 - 10}{4 + 6 - 10} = 0 \because$

$\lim_{x \rightarrow 2} \frac{(2x+1)(x-2)}{(x+5)(x-2)} = \frac{2(2)+1}{2+5}$
 $= \frac{5}{7}$

12. $\lim_{x \rightarrow \infty} \frac{3x^2 - 5}{x - 3}$ dolly
 E.B. $\frac{\infty}{\infty}$
 $= +\infty$

13. $g(x) = \log_3(x^2)$ find $g'(x)$
 $\frac{1}{x^2 \ln 3} \cdot \frac{d}{dx} [x^2]$
 $\frac{2x}{x^2 \ln 3} = \frac{2}{x \ln 3}$

14. $h(x) = \sqrt{\frac{2x-4}{3x+5}}$ find $h'(x)$

$\frac{1}{2} \cdot \left(\frac{2x-4}{3x+5}\right)^{-1/2} \cdot \frac{d}{dx} \left[\frac{2x-4}{3x+5}\right]$
 $\frac{1}{2} \left(\frac{2x-4}{3x+5}\right)^{-1/2} \cdot \left[\frac{(3x+5) \frac{d}{dx} [2x-4] - (2x-4) \frac{d}{dx} [3x+5]}{(3x+5)^2} \right]$
 $\frac{1}{2} \cdot (2x-4)^{-1/2} \cdot \frac{(3x+5)(2) - (2x-4)(3)}{(3x+5)^2}$
 $\frac{1}{2} \cdot (2x-4)^{-1/2} \cdot \left[\frac{6x+10 - 6x+12}{(3x+5)^2} \right]$
 $\frac{1}{2} \cdot (2x-4)^{-1/2} \cdot \frac{22}{(3x+5)^2}$
 $= \frac{11}{(2x-4)^{1/2} (3x+5)^{3/2}}$

15. $\frac{d}{dx} [f(x^2)]_{x=2}$

x	2	4
f(x)	-3	5
f'(x)	3	-7

$\frac{d}{dx} [f(AT)]$
 $= f'(AT) \cdot \frac{d}{dx} [AT]$
 $f'(x^2) \cdot \frac{d}{dx} [x^2]$
 $= 2x \cdot f'(x^2)$
 $= 2(2) \cdot f'(2^2)$
 $= 4 \cdot f'(4)$
 $= 4 \cdot (-7)$
 $= -28$

16. $\frac{d}{dx} [(f(x))^2]_{x=2}$

x	2	4
f(x)	-3	5
f'(x)	3	-7

$\frac{d}{dx} [(AT)^2]$
 $= 2(AT)' \cdot \frac{d}{dx} [AT]$
 $2 \cdot [f(x)]' \cdot f'(x)$
 $2 \cdot f(2) \cdot f'(2)$
 $2 \cdot (-3) \cdot (3)$
 $= -18$

Answers:

1) $\frac{dy}{dx} = \frac{2y - x^2}{y^2 - 2x}$

2) $\frac{dy}{dx} = \frac{-3x^2 - 2xy}{x^2 + 8y}$

3) $\frac{dy}{dx} = \frac{3 - 2xy - y^2}{x^2 + 2xy}$

4) $\frac{dy}{dx} = \frac{\sin x \sin y}{\cos x \cos y} = \tan x \tan y$

5) $\frac{dy}{dx} = \frac{y \sin x - \cos y}{\cos x - x \sin y}$

6) $\frac{dy}{dx} = \frac{-y \sin(xy)}{1 + x \sin(xy)}$

7) $\frac{d^2y}{dx^2} = \frac{-25}{y^3}$

8) $y - 1 = 1(x - 1)$

9) (1,1), (1,-2),
(-1,-1), & (-1,2)

10) $y - 3 = -1(x - 12)$

11) $\frac{5}{7}$

12) ∞

13) $\frac{1}{x \ln 3}$

14) $\frac{11}{(2x-4)^2 (3x+5)^2}$

15) -28

16) -18